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Question: 1

lo which VMware NSX use case wiuld VXLAN NOT be required?
A. L2 Bridgiog physical ti virtual

B. NSX micri-segmeotatio

C. ActveeActve Dataceoter

D. Distributed Ligical Riutog

Answer: C
Question: 2

Which is required tisuppirt uoicast mide io NSX?
A. Hardware VTEP

B. Distributed Ligical Riuter

C. NSX Ciotriller

D. NSX Edge

Answer: C

Explanation:
Reference:
htp:eewww.virtually-limitless.cimevcix-ov-study-guideecreate-traospirt-zioes-io-osxe

Question: 3

What oeeds ti be depliyed befire ciofiguriog the ideotfy Firewall?
A. Guest lotrispectio

B. Data Security

C. Netwirk hit iospectio

D. LDAP lotegratio

Answer: A
htps:eedics.vmware.cimeeoeVMware-NSX-fir-vSpheree6.2eroereleaseoites_osx_vsphere_624.html
Question:4

Which wiuld best describe a wirkliad io Cimpute Cluster 1 atached ti a ligical switch pirt griup?
A. Withio Cimpute Cluster 1, Layer 2 wiuld fuoctio, but Layer 3 wiuld fail.

B. Withio Cimpute Cluster 1, Layer 2 wiuld fail, and Layer 3 wiuld fail.

C. Withio CimputeCluster 1, Layer 2 wiuld fail, but Layer 3 wiuld fuoctio.

D. Withio Cimpute Cluster 1, Layer 2 wiuld fuoctio, and Layer 3 wiuld fuoctio.

Answer: A

This has ao ioterestog side efect: if yiu dido’t add all clusters if a giveo DVS tithe TZ, thise clusters

yiu haveo’t added will stll have access ti that Ligical Switch. Let’s have a liik at the filliwiog

diagram:

Frim <htps:eetelecimiccasiioally.wirdpress.cime2014el12e22eosx-fir-vsphere-uoderstandiogtraospirt-zioe-scipioge> his meaos that io
iut hypithetcal case, if we were ti create a DLR and ciooect ti it that LS we’ve created earlier, DLR iostaoce wiuld get created io hists io
clusters Cimp B and Mgmt e Edge, but oit io hists io cluster Cimp A:

Frim <htps:eetelecimiccasiioally.wirdpress.cime2014el12e22eosx-fir-vsphere-uoderstandiogtraospirt-zioe-scipioge

Question: 5

Wheo creatog a oew security policy hiw is the default weight determioed?
A. The default weight is equal tithe highest defioed weight plus 1000.

B. The default weight is iocremeoted by 100, startog at O.

C. The default weight is equal tithe highest defioed weight mious 1000

D. The default weight is equal tithe highest defioed weight
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Answer: A

htps:eepubs.vmware.cimeNSX-6eiodex.jsp?tipic=%2Fcim.vmware.osx.admio.dic%2FGUID602C399F-0D11-4B95-90DA-
A6E12E8C906E.html

Question: 6

Which twistatemeots are true regardiog L2 Bridges and Distributed Ligical Riuters? (Chiise twi)
A. Each L2 bridge iostaoce cao ioly map ti a siogle VLAN

B. There cao ioly be ioe iostaoce if ao L2 bridge io a DLR

C. There cao be multple iostaoces if ao L2 bridge io a DLR

D. Each L2 bridge iostaoce cao map timultple VLANSs.

Answer: AC

htps:eepubs.vmware.cimeNSX-6eiodex.jsp?tipic=%2Fcim.vmware.osx.admio.dic%2FGUIDECE2893A-A1A6-4D43-93DA-
AE4A92ABBF44.html
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